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���� S o i l  M e c h a n i c s  

 

F o r m a t i o n  o f  s o i l ,  s o i l  c l a s s i f i c a t i o n ,  s o i l  e x p l o r a t i o n  

 

������: 1 

	
 �� �: 
� ��� � �� � � ���� � � �� ����� �� � � � � � � 
 � 

� �� 
 � � �  � �!
 � ��  (So i l  

ex p l o r at i o n )  �$�  

� � � ��  1:   F i el d  d en s i t y  t es t  

� � � ��  2:   U n c o n f i n ed  C o m p r es s i o n  t es t  

� ��� � �  3 :   St an d ar d  Pen et r at i o n  t es t   

� � � ��  4:   M o d i f i ed  Pr o c t o r  t es t  

 

������: 2 

	
 �� �: � � 
� �� 
 � � �  � �!
 � ��  
� �
 � � � � �!� � & '
���� & �� � 
 � � 
 � �'(� �� )*
��   

� � � ��  1:   � ���& '

!*�  20 � � � � 

� � � ��  2:   �� + �� � � ����� 
 �� ���	���
� � 

� � � ��  3:   �!� � � � � � �, ���� ��$���� $�
� �� 
 � � �  � �!
  

� ��� � �  4:   � - � . ���/ �(� � ��  0 & � � ( � � � �
���	���� ��� �� *!� � � � $�� ��  

  

������: 3 

	
 �� �: , �� � ��� !����� 
2� � �!�� *� �� �� ��� - � . �� )*� � ��� � �� � ( � � � �� ��  � � $��� 
2� � �!�� *� �� ��
� ��
& *� !�'(� � � 0 & �! � � �*� + ��� � ��!� � / $(� 3 � � 30 %  0 & � �*� �!� � , *!�
  � � . � �
� �*� 
��  2.67 �*� ��� �� � *!� / *��!*� � (V o i d  r at i o )  
 � � ��*� � �*� � �$�� 
& �� ��� �
�� �*� � �   

 

� 4 & �  S.e = w .G
s
 

 e = 0.30 x  2.67 

  = 0.80  

 

� � � ��  1:   0.30 

� � � ��  2:   0.62 

� ��� � �  3 :   0.80 
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� � � ��  4:   1.0 

 

 

 

������: 4 

	
 �� �: � �6 & �
7 ��
& �*� � � ���� �  ���� / ��  � � ��� � �� + �� � - �� � 
�� ��� �  (Si l t )   

� � � ��  1:   SP 

� � � ��  2:   G W  

� ��� � �  3 :   M H  

� � � ��  4:   C L  

 

������: 5 

	
 �� �: !�8 �
� ��� � �� � *�3 + � �(���� � ���3 � *� 
��� !����	� � � ��� *�
�� � !� 
� �
  � 0 � 
+ �� � - �
���� ��   

� � � ��  1:   Si ev e an al y s i s  

� � � ��  2:   H y d o m et er  an al y s i s   

� � � ��  3:   C o n s i s t en c y  t es t  

� ��� � �  4:   C o m p ac t i o n  t es t  

 

������: 6 

	
 �� �: � ��$���� $��� � �� ���3 � �0 � � �3 !�� �(� + 9� � ��$���� $��  � � ��� 
� ��� � �� � �   

 

  

 

� ��� � �  1 :   F i el d  v an e t es t  
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� � � ��  2:   C o n e p en et r at i o n  t es t  

� � � ��  3:   St an d ar d  p en et r at i o n  t es t  

� � � ��  4:   F i el d  d en s i t y  t es t  

 

������: 7 

	
 �� �: � �� + �� � - � SW  � + 9� � �� ���� ����� � � �� �� � � *�3 + � �(  
� � � ��  1:   � �� � � � �� !���� �. & � � � �
: �� �(� )� 

� � � ��  2:   
�!� ���� �� �� � � � �� !+ � �� )*� & 2
� ���  

� � � ��  3:   ��� � ���� ��*� � �� + �� � ��8 �;�!� � 	���� �*� 
��  0.8 

� ��� � �  4:   ��� � ���� ��*� � �� + �� � ��8 �;�!� � � � � � � � � �� �*� 
��  8 

  

������: 8 

	
 �� �: � �� / � �� � � '��, )
�  � � � �� � �� � � � ���+ < �� �� �
� �3 � �= & 
� ��� � �� � ��� �(  
= *� � � � 0 
��� � � �� >� � � � ��� 200 = 42 %  

L i q u i d  l i m i t  = 38 %   

Pl as t i c  l i m i t  = 26 %   

� �� / � �� � �(
 � � ��*�  G r o u p  i n d ex  ( G I)  ����� � � 
  � 0 � 
� ��  A A SH T O  � �*� 
�� � �$�
� 
& �� ��� �
�� �*� � �  
 � � � � � )� � G I = ( F -35) [ 0.2+ 0.005( u -40) ] + 0.01( F -15) ( PI-

10)   

� � � ��  1:   -3 

� � � ��  2:   0 

� ��� � �  3 :   2 

� � � ��  4:   5 

 

������: 9 

	
 �� �: � � $��� ���
� �� 
2� � �!�� *� �� �� ���- � . � )� ( U n d i s t u r b ed  s am p l e)  �!�
 � � / �
��+ 
���� 
2� � �!�� *� �� �� 0 � � � �   

� � � ��  1:   H an d  au g er   

� � � ��  2:   Sp l i t  s p o o n  s am p l er  

� ��� � �  3 :   Shel b y  t u b e s am p l er  

� � � ��  4:   T hi c k w al l  s am p l er  
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������: 10 

	
 �� �: �)+ ���3 � �0 � � �3 !�� + 9� = & 
� ��� � �� ���3 � �
 � 
!�8 �
� �� �   

 

  

 

� � � ��  1:   St an d ar d  p en et r at i o n  t es t  

� ��� � �  2 :   C o n e p en et r at i o n  t es t  

� � � ��  3:   F i el d  v an e t es t  

� � � ��  4:   D o w n  ho l e t es t  

 

������: 11 

	
 �� �: , �� � � 
� �� � ��� � �!�� *� �� �� & �� � 
�� � �
� �!�� *� ����� �+ ��� � � � 0.05 & )
� � ? 
�@ ��  
	� � � / �& )
� ��� � � �
12 + �� � � � 
� � �� )� 15 � �(!0 & �!+ & *�� � � �� 

�� 0 �
� �� � �

�� � �
� �!�� *� �/ �(� & �  30 ���(� 
  � � !�  4 / �(� � � 2� 
�� � �
� �!�� *� �. �� � 
 �� � !*�
. & ���� � ���� / �� � ��� � �� � � 
�� � �
� �!�� *� �� ��*� � �*� 3 �  

 

 

���� E          =           ( 1 2  x  ( 1 5 / 1 2 )  x  3 0  x  4 ) / 0 . 0 5  

            =           3 6 , 0 0 0  f t -l b / f t
3
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� � � ��  1:   12, 000 @ �� + �� � �/& � .@ ��  

� � � ��  2:   24, 000 @ �� + �� � �/& � .@ ��  

� ��� � �  3 :   36, 000 @ �� + �� � �/& � .@ ��  

� � � ��  4:   42, 000 @ �� + �� � �/& � .@ ��  

  

   

 

 

 

������: 12 

	
 �� �: , �� � � 
� �� � ��� � �!�� *� �� �� & �� � 
�� � �
� �!�� *� ����� �+ ��� � � � 0.08 & )
� � ? 
�@ ��  
	� � � / �& )
� ��� � � �
 20 + �� � � � 
� � �� )� 18 � �(!0 & �!+ & *�� � � �� 

�� 0 �
� �� � �

�� � �
� �!�� *� �/ �(� & �  30 ���(� 
  � � !�  6 / �(� � � 2� 
�� � �
� �!�� *� �. �� � 
 �� � !*�
. & ���� � ���� / �� � ��� � �� � � 
�� � �
� �!�� *� �� ��*� � �*� 3 �  

� ��� � �  1 :   67, 500 @ �� + �� � �/& � .@ ��  

� � � ��  2:   56, 250 @ �� + �� � �/& � .@ ��  

� � � ��  3:   36, 000 @ �� + �� � �/& � .@ ��  

� � � ��  4:   12, 375 @ �� + �� � �/& � .@ ��  

 

������: 13 

	
 �� �: 
� ��� � �� � � � � � � � � ���� �  ���� ��'(� � . $��� �
�*� �!� � 0 �2�0 ������ �� � � � �� !�*��   

� ��� � �  1 :   F i el d  v an e s hear  t es t  

� � � ��  2:   Pr es s u r em et er  t es t  

� � � ��  3:   T r i ax i al  c o m p r es s i o n  t es t  

� � � ��  4:   F i el d  d en s i t y  t es t  

 

������: 14 

	
 �� �: = & 
� ��� � ��  St an d ar d  Pen et r at i o n  t es t  
 � � *�� �
�*� � � ���� �� � � ���� *�3 + � �(  
� � � ��  1:   R el at i v e d en s i t y  
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� � � ��  2:   A n g l e o f  i n t er n al  f r i c i t o n  

� � � ��  3:   St i f f n es s  m o d u l u s  

� ��� � �  4:   , )
��(� 3 ��� 

 

������: 15 

	
 �� �: 
� ��� � �� � � � � � � � � ���3 � � ���� ��'(� � . $��0 � � ��!� � � �� � �� � � *�0 ��� 4 $�� ���� ��   

� ��� � �  1 :   V an e s hear  t es t  

� � � ��  2:   Pr es s u r em et er  t es t  

� � � ��  3:   T r i ax i al  c o m p r es s t i o n  t es t  

� � � ��  4:   F i el d  d en s i t y  t es t  

 

 

������: 16 

	
 �� �: ��� � �� , � , )
� � ��� ���+ ��� � ��!� � / $(� � �*� 
��  17% 0 & � � � �*� �!� � . ��� � �*� 
��  0.386 , �� �!� �
, *!�
  � � . � � ���� � 2� � �� � �*� 
��  2.65 
 �� � � !�� � �� � �� �!� � ���� � �!������ � �� � �(  

 

 

���� e     =  n/ ( 1-n)  

      =  0. 3 8 6 / ( 1-0. 3 8 6 )  

       =   0. 6 29 

                             s . e      =   w G
s
 

 S    =   0. 17  x  2. 6 5 / 0. 6 29 

            =     0. 7 16 2 

 

 

 

� � � ��  1:   54.5%  

� � � ��  2:   63.2%  
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� ��� � �  3 :   71.7%  

� � � ��  4:   87.3%  

 

������: 17 

	
 �� �: � �� � � � �� !� ���� �� � *!� / *��!*� �� �*� 
��  0.73 �!� � , *!�
  � � . � � � �*� 
��  2.71 �� � �� �!� � ���� � �!
� �*� 
��  92 %  
 �� � �!� � � � � 0 � *� 0 � ��0 & � �!� � � � � 0 � *� ��(�� � � � � � &  � � ��   

 

 

���� γ         =        ( G s   +  S. e ) . γ w / ( 1+ e )  

           =        

( 2. 7 1+ 0. 92x 0. 7 3 ) x 1000/ ( 1+ 0. 7 3 )  

            =         195 4 . 6 8    k g / m
3
 

 Γd     =          γ w e t/ ( 1+ w )  

            =         195 4 . 6 8 / ( 1+ 0. 25 )  

           =          15 6 3 . 7 4    k g / m
3
 

 

� ��� � �  1 :   1, 566 k g / m 3 0 & �  1, 955 k g / m 3 

� � � ��  2:   1, 566 k g / m 3 0 & �  1, 965 k g / m 3 

� � � ��  3:   1, 555 k g / m 3 0 & �  1, 955 k g / m 3 

� � � ��  4:   1, 555 k g / m 3 0 & �  1, 965 k g / m 3 

 

 

 

 

 

 

������: 18 
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 �� �: 
� ��� � �� �!� � � � � 0 � *� � �� � � � � � � ����� � 
*�� ��� �, � � 	� � !�8 �
�!� ��� � 3 � �= & 
� �
�� � �� � ��� �( � � .� !& � �� � + C� 
������ ��

 � 
� & ��  = 1, 942 g ,  � � .� !& ��� � ���� / �� � �� � � 2�
� & �� 0 & � 
�!� �� � ��  = 2, 744 g ,  �!� � � � � 0 � *� ������ � ���� / � = 1.60 g / c m 3,  � � .
� !& ������ � ���� / �� � ��  = 1, 289.7 g ,  � � .�� 0 � ������ !& � �� ������ ��
� �  = 1, 708.7 g ,  

� � $��� �� � ��!� � � � � 0 � *� 0 � ��� )�� �� (� � � ���+ < �� �� �
� �) = 1, 950 k g / m 3. 
 �� � �!� �
� � � 0 � *� 0 � �� 0 & �  
� �� � ��� � �� . ��8 �  

 

���� w w e t         =     194 2   g m 

 Ww e i g h t o f  s a nd i n c o ne  =  128 9. 7    g m 

 We i g h t o f  dr y  s o i l      =  17 08 . 7  g m 

 We i g h t o f  s o i l  i n h o l e    =     27 4 4  -128 9. 7  

                                     =      14 5 4 . 3    g m 

 Vo l u me  o f  h o l e           =     14 5 4 . 3 / 1. 6  

                                                      =      908 . 94   c m
3
 

 Ww            =     194 2 + 17 08 . 7  

              =     23 3 . 3   g m 

 w                         =    23 3 . 3 / 17 08 . 7  

                            =    0. 14  

 γ w e t          =   194 2/ 908 . 94  

             =   2. 14  

 γd          =   2. 14 / ( 1+ 0. 14 )  

             =   1. 8 7  g m/ c m
3
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 % de ns i ty            =  18 7 0/ 195 0 

            =   0. 96  

 

 

� � � ��  1:   1.88 g / c m 3 0 & �  93.4%  

� � � ��  2:   1.98 g / c m 3 0 & �  93.4%  

� ��� � �  3 :   1.88 g / c m 3 0 & �  96.4%  

� � � ��  4:   1.98 g / c m 3 0 & �  96.4%  

 

 

 

������: 19 

	
 �� �: 
 �� � �*� �� � �� �!� � ���� � �!(S)  
 � 
���� )& � *�3 + � �( + ��� � � ����� �� � � � 8 ��� / � � � = 
483 & � .: � . � ( � � � �
���� �� � � � 8 ��� / � � � = 820 
���  � ( � � � �
� �� �� 0 � �� = 758 


���  �!� � , *!�
  � � . � � ���� � 2� � ��  = 2.70  

 

���� V = 4 8 3     c m
3
 

 Ww e t = 8 20    g m 

 W
d r y

 = 7 5 8      g m 

 Ww  = 8 20 + 7 5 8  

   = 6 2 g m 

 Vs  = Ws / ( G s . γ w )  

   = 7 5 8 / ( 2. 7 0x 1)  

   = 28 0. 7 4   c m
3
 

 Vv  = V + Vs  
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   = 4 8 3  -28 0. 7 4  

   = 202. 26     c m
3
 

 Vw  = 6 2  c m
3
 

 S = Vw / Vv  

   = 6 2/ 202. 26  

   = 0. 3 06 5  

 

� � � ��  1:   12.8%  

� ��� � �  2 :   30.6%  

� � � ��  3:   72.1%  

� � � ��  4:   8.2%  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

������: 20 

	
 �� �:  
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� � � ��  1:   C H  

� ��� � �  2 :   C L  

� � � ��  3:   SP 

� � � ��  4:   M H  
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������: 21 

	
 �� �: 
� ��� � �� � � �*� . �
�� � � & ! (L i q u i d  l i m i t ,  L L )  ���� �� � � � �� !/ � �� � � '�� � � � ���+ < �� �� �
� �
. � !*� + ��� � ��!� � / $(� � � � �� � ��*� � �*� 
��  38%  
 �� � �*� ��� �� � *!� / *��!*� � (v o i d  r at i o ,  e)  

���� �� ���. �
�� � � & ! , �� �*� �!� � , *!�
  � � . � �  (Sp ec i f i c  g r av i t y ,  G s )  � ��*� � �*� 
��  2.7 


 � � � � � � � D eg r ee o f  Sat u r at i o n  = 100%   

 

� 4 & �  S.e = w .G s  

   E = 0.38 x  2.7/ 1 

    = 1.026 

 

� � � ��  1:   0.38 

� ��� � �  2 :   1.03 

� � � ��  3:   0.14 

� � � ��  4:   0.27 

 

 

 

������: 22 

	
 �� �: 
 �. �
 � ��� ����!� � � *�3 + � �(  

 

 

� � � ��  1:   , )
� 4 . � �  ����!� �  a)  

� � � ��  2:   , )
� 4 . � �  ����!� �  b )  

� � � ��  3:   , )
� 4 . � �  ����!� �  c )  

� ��� � �  4:   3 � *� �����!� � � � , )
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������: 23 

	
 �� �: � �� � � ���� � � *�3 + � �(���� ����� � � �� �� 
& �� ��� �� �� / � ��  SP-SM  � � 
���� ��   

� � � ��  1:   % F i n es  ( F r ac t i o n  s m al l er  t han  0.075 m m )  = 4% ,  C u  = 2.5  

� ��� � �  2 :   % F i n es  = 6% ,  C u  = 4.5 

� � � ��  3:   % F i n es  = 8% ,  C u  = 6.5 

� � � ��  4:   % F i n es  = 10% ,  C u  = 8.5 

 

P e r m e a b i l i t y ,  s t r e s s e s  i n  a  s o i l  m a s s ,  s t r e s s -s t r a i n  a n d  s h e a r  s t r e n g t h  p r o p e r t i e s  o f  c o h e s i v e  

a n d  c o h e s i o n l e s s  s o i l s  

 

������: 24 

	
 �� �: 
 � 

�� @ = & 
� ��� � �� 
� �� � ��� � �� � � � ���+ < �� �� �
� �� �!� !�8 � St an d ar d  Pr o c t o r  � ���)+  
, �� �  � � �� / � �� � �(3 + � � ��� , � � 0 & �!� � 
� ��� � �� 
� �� � ��� � � � � � � � �!� !�8 � San d  c o n e 3 � �
�!� � � � � 0 � *� 0 � �� 18.5 k N / m ^ 3 �!� � 0 � *� ���
� �� � ��� ���� �� � + ���� : 2� � �� + 9� � �*� � �   

 

  

 

� � � ��  1:   96.5 %  

� ��� � �  2 :   94.9 %  

� � � ��  3:   92.4 %  

� � � ��  4:   93.8 %  

 

������: 25  

	
 �� �: , �� = & 
� ��� � ��  C BR  3 � �� ���)+ 
�� @ ���
 � � � � � � � �*�  C BR  
 � � �*� 
�� � �*� � �  (, �� � � *!� 0 ��

� � � � �>� � ����� � � 
 �  0.1 � �(!� �*� 
��  1000 + �� � �� *�� � �� �� �(!)  
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�)+ - � . + �� 
�� � � , � � :  

� � � ��  1:   5 %  

� � � ��  2:   7.5 %  

� ��� � �  3 :   10 %  

� � � ��  4:   17.5 %  

 

������: 26  

	
 �� �: �  � � �� � � � �� !� � � �� !���� � �!� �!� � ( � 3 + �� � ��  U n c o n s o l i d at ed  U n d r ai n ed  � �!�
0 ��� �� � ( �  100 k N / m ^ 2 3 � ��*� � � *!� 0 ��
� � � 0 � !� ������� . ��� �'(� ���
 �� !�� �� �� �*� 
��  
80 k N / m ^ 2  


 � & ����� 0 ��� 4 $�� 0 � � 3 � *�� � � � � ( �  (U n d r ai n ed  s hear  s t r en g t h)  ���� ��
� �!�� *� �� �(
 � � + 9� � �*� � �   

 
 

���� σ3 = 100   kN/m3 
 σ1 = 180  kN/m3  

 

 

� � � ��  1:   30 k Pa 

� ��� � �  2 :   40 k Pa 

� � � ��  3:   50 k Pa 

� � � ��  4:   60 k Pa 
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������: 27  

	
 �� �: � � 
� ��� � �� 
� �� 4 $�� 0 � �  D i r ec t  s hear  ���� � 3 � *� / *���� )& ���3 � �
 � 

� ��� � ��   

� � � ��  1:   F r i c t i o n  an g l e 

� � � ��  2:   C o hes i o n  

� � � ��  3:   H o r i z o n t al  d i s p l ac em en t  

� ��� � �  4:   C o n f i n i n g  s t r es s  

 

������: 28  

	
 �� �: � �� 
 � � / �!�8 �� � � � � ���+ < �� �� �
� �� � 
� ��� � �� 
 � & ����� 0 ��� 4 $�� ���� ��   

� ��� � �  1 :   T r i ax i al  t es t  

� � � ��  2:   C o n s o l i d at i o n  t es t  

� � � ��  3:   C o m p ac t i o n  t es t  

� � � ��  4:   Per m eab i l i t y  t es t  

 

 

 

������: 29  

	
 �� �: 
� ��� � ��  D i r ec t  s hear  t es t  	� � � / � N o r m al  s t r es s  � �*� 
��  65 k Pa � � � �!�� *� ���� � ���� �
� *!� �& � 3 � *� � (Po o r l y  g r ad ed  s an d )  0 & � 3 � *� �0 ��� '� � � � ��� ! . � !*� � � *!� 0 ��� 4 $�� ���!�� �� �
� �*� 
��  41 k Pa 
 �� � � �� � � �� � �� � - � � � �  (In t er n al  f r i c t i o n  an g l e)   

� � � ��  1:   28 ��? �   

� ��� � �  2 :   32 ��? �   

� � � ��  3:   57 ��? �   

� � � ��  4:   61 ��? �   

 

������: 30  

	
 �� �: � � 
� ��� � ��  F i el d  D en s i t y  � � 3 � 
 '�� ���� / � O t t aw a San d   

� � � ��  1:   � . �� � � + 9� ��� � � � �� �  

� � � ��  2:   � . �� � � + 9� ��� � � ��� ! 

� ��� � �  3 :   � . �� � � + 9� ��� � ���� ��� � � � � 2� � � � � � � � � 

� � � ��  4:   � . �� � � + 9� ��� � � � � �>� � � ����� � �*� � �(�  
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������: 31 

	
 �� �: ���� �  3 � *, )
� ���� 
��� !
��  �!� � � ��� /� � *!� 0 ��� �� L �8 �= &  (ef f ec t i v e s t r es s )  ?   

� � � ��  1:   � + 9� � � *!� 0 ��� � � �� � � . $��� / �. �
 � ���  � 
��� !
�� 
� �� �� ��� � �! 0 & � 
 � & ��� �� � �� �
0 ��� 4 $�� ���� ��  � *��� � !�? !
��� + >. � �  � � � � �	� �  T er z ag hi   

� � � ��  2:   � + 9� � � *!� 0 ��- � � � � � !& � ��  � �� � � � �!�  �*� � � *!� 0 ��- � � � �
��(�� � � ���
�� � �
� *�� !& � ��  & � � �!� � � *!� 0 ��� �� ���� ( �  
���� �� ���� � �!� �!� � ( �   

� ��� � �  3 :   � + 9� � � *!� 0 ��+ �� � ��8 �= &  � ��� � 3 � �� �*� 
�� � � *!� 0 ���!� � � ���  ���� 
�� �'(� 
 � 
0 ��
�� � !*� ��� �- � �� � 2� � ��  � � �� �!� . $(� ���= �!� �� = �� ����� )- � �� � 2� � �� � �(�   

� � � ��  4:   � � � �� 3 � *� ����� � 3 � *, )
� ��� 

 

������: 32 

	
 �� �: � �� / � �� � � ���� ��*�  C o ef f i c i en t  o f  Per m eab i l i t y  � � � ���� ��   

� � � ��  1:   G r av el  

� � � ��  2:   San d  

� � � ��  3:   Si l t  

� ��� � �  4:   C l ay  

������: 33 

	
 �� �: 
������� 
��  C r i t i c al  H y d r au l i c  g r ad i en t  �*� � � � ��*� � �*� 
��  ? )� � �  
� � � ��  1:   T o t al  s t r es s  

� ��� � �  2 :   Ef f ec t i v e s t r es s  

� � � ��  3:   Po r e w at er  p r es s u r e 

� � � ��  4:   Seep ag e p r es s u r e 

 

������: 34 

	
 �� �: 
 � 
= & 
� ��� � �� �� & ��� & !�� � � �>� �  (St an d ar d  Pen et r at i o n  T es t ,  SPT )  

� �!� 
� �� �
� � �
 � ���(�& �  6 � �(! 3 � �= & 
� �� �� ���(�� � 
� �� �
� ��� � �� ���� �& *� � 
 �
� � � !�� � �*�  N   
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� � � ��  1:   15 

� � � ��  2:   22 

� � � ��  3:   25 

� ��� � �  4:   27 

 

 

 

 

 

 

 

 

 

 

 

 

������: 35 

	
 �� �: ���� � � + 9� = & ���3 � �
 � 

� ��� � ��  C o n e Pen et r at i o n  T es t  ( C PT )   

  

� � � ��  1:   0 ��0 � 
�� � ���� ��  (en d  b ear i n g  r es i s t an c e)  

� � � ��  2:   0 ��� � �� � �� �  (f r i c t i o n  r es i s t an c e)  

� � � ��  3:   0 ��� �� � ( � � � �� ��  (w at er  p r es s u r e)  

� ��� � �  4:   , )
��
��� 
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������: 36 

	
 �� �: ��+ 
���
� ��� � �� � �$�!�8 �
� ��� � �� � � ���� �  ���3 � *� � � � �, � / �� � �*� 
 � & ����� 0 ��
� 4 $�� 0 � � 3 � *�� � � � � ( �  (u n d r ai n ed  s hear  s t r en g t h) ���� �� 3 � �  

� � � ��  1:   
� ��� � �� 0 � � � 4 $�� 	� � � �� (d i r ec t  s hear  t es t )  

� ��� � �  2 :   
� ��� � �� 
� �� �� � �!� � '��� �� � (o ed o m et er  � �$� c o n s o l i d at i o n  t es t )  

� � � ��  3:   
� ��� � �� 0 � � � �0 ����� � � � 0 
�  (t r i ax i al  t es t )  

� � � ��  4:   
� ��� � �� 	� � � / �� � � �� � � � �>� �  (v an e s hear  t es t )  

   

������: 37 

	
 �� �: � � 
� �!�� ��� � � �� � , �� �- � . �� � ��� � � / �(� � �� � � � �� ! � �� �!�� / � Par am et er s  
 � 


� ��� � �� + �� � - �� �   

� � � ��  1:   U n c o n f i n ed  C o m p r es s i o n  T es t  

� � � ��  2:   T r i ax i al  T es t  - U n c o n s o l i d at ed  U n d r ai n ed   

� � � ��  3:   V an e Shear  T es t  

� ��� � �  4:   , )
��
��� 
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������: 38 

	
 �� �: 
 �� �  H y d r au l i c  g r ad i en t  ���
� �3 � & ���� ( � = *� � 0 �*�� �� � ��� � 30 ��? � 
��
0 � !�� � � ��0 � � �� � �)+  � � $�� hA  = 2.5 m . Z A = 1.1 m . hB= 2 m . Z B= 1 m . L  = 

1.5 m .  

 

 

 

 

� 4 & �  ∆h = 2.5 H 2 

    = 0.5 

 I  = ∆h/ L  

    = 0.5/ 1.5 
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� ��� � �  1 :   0.5/ 1.5  

� � � ��  2:   0.5/  ( 1.5* c o s  ( 30) )   

� � � ��  3:   ( 1.4-1) / 1.5  

� � � ��  4:   ( 1.4-1) /  ( 1.5* c o s  ( 30) )   

� � � ��  5:   3 � *� ����, )
 

 

 

������: 39 

	
 �� �: 
 �� � �!� � � � � 0 � *� ���� � �!���� �� ��� �   

 

 

 

 

� 4 & �  e  = n / ( 1-n )  

    = 0.5/ ( 1-0.5)  

    = 1 

 γ s at  = ( G s  +  S.e) .γw / ( 1 +  e)  

    = ( 2.70 +  1) x 1000/ ( 1+ 1)  

    = 1850  k g / m
3
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� � � ��  1:   
. 1.5 M g / m 3  

� � � ��  2:   �. 1.62 M g / m 3  

� � � ��  3:   �. 1.78 M g / m 3  

� ��� � �  4:   �. 1.85 M g / m 3  

 

������: 40 

	
 �� �: 
 �+ �� � � �� � . & ���� � � *�+ ��� � � �� � 
� �� � ��� 0 � �  St an d ar d  Pr o c t o r  T es t  

	� � � � m o l d  �� � � � � �� = *� ? )� � �
& � � 4 � �(! � )� 4.58 � �(! � / �� ��� � � �
 5.5 + �� � � � 

� )� 12 � �(! � � ���  3 / �(�  / �(� & �  25 ���(�  

� ��� � �  1 :   12, 375 ( f t . Ib f ) / f t 3  

� � � ��  2:   592.7 ( f t . Ib f ) / f t 3  

� � � ��  3:   24, 750 ( f t . Ib f ) / f t 3 

� � � ��  4:   1, 085.4 ( f t . Ib f ) / f t 3  

 

 

������: 41 

	
 �� �: 
 � 
� � �� 	���
� �� � ��� � ���)+ 0 & � � ���
� �� � ��� � �� � � �� ��� � � ���
 � � � � 	� � � � �� � 
C o m p ac t i o n  d en s i t y  �� *� �� ���  95 � + ���� : 2� � �����!� � � � � 0 � *� 0 � ��� )�� �� ���3 � �

 � 
� ���+ M �� �� �
� �0 & � � ��!� � / $(� �� )*� � / *!� -2 , '� +2 � + ���� : 2� � ���� O p t i m u m  

w at er  c o n t en t  � � $���� � ��  San d  c o n e t es t  . � !*�  + ��� � � ����� �� � �*� 
��  1153 

c m 3 � ( � � � �
� + C� 
� �*� 
��  2209 g . 0 & �  � ( � � � �
0 0 � ��� �*� 
��  1879 g . 
 �� � �!� �
� � � 0 � *� 0 � ������ � ��� � � � � � �   
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���� γd = 1879/1153 
    = 1.629gm/cm3

 
 

 

� � � ��  1:   1.13 g / c m 3  

� � � ��  2:   1.33 g / c m 3 

� � � ��  3:   1.53 g / c m 3 

� ��� � �  4:   1.63 g / c m 3 

 

 

 

������: 42 

	
 �� �: 
 � 
� � �� 	���
� �� � ���  0 & � � ���
� �� � ��� � �� � � �� ��� � � ���
 � � � �  (Sp ec i f i c at i o n )  

	� � � � �� � C o m p ac t i o n  d en s i t y  �� *� �� ���  95 � + ���� : 2� � �����!� � � � � 0 � *� 0 � ��� )�� ��
���3 � �
 � 
� ���+ M �� �� �
� �0 & � � ��!� � / $(� �� )*� � / *!� -2 , '� +2 � + ���� : 2� � ���� O p t i m u m  

w at er  c o n t en t  � � $���� � ��  San d  c o n e t es t  . � !*�  + ��� � � ����� �� � �*� 
��  1153 c m 3 

� ( � � � �
� + C� 
� �*� 
��  2209 g . 0 & � � ( � � � �
0 � ��� �*� 
��  1879 g . 
 �� �  W at er  c o n t en t  

���� �� � � � � � �   
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����  V = 1153    cm3 
 Wwet = 2209     gm 
 Wdry = 1879     gm 
 
 Γwet = 2209/1153 
    = 1.916   gm/cm3 
 
  Γd = 1879/1153 
    = 1.630  gm/cm3 
 Γd = γwet/(1+w) 
    = (1.916/1.63) – 1 

    = 0. 17 5  
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� � � ��  1:   10.5 %   

� � � ��  2:   15.5%   

� ��� � �  3 :   17.6 %   

� � � ��  4:   19.7%   

 

 

������: 43 

	
 �� �: 
 � 
� � �� 	���
� �� � ��� 0 & � � ���
� �� � ��� � �� � � �� ��� � � ���
 � � � �  
(Sp ec i f i c at i o n )  	� � � � �� � C o m p ac t i o n  d en s i t y  �� *� �� ���  95 � + ���� : 2� � ����
�!� � � � � 0 � *� 0 � ��� )�� �� ���3 � �
 � 
� ���+ M �� �� �
� �0 & � � ��!� � / $(� �� )*� � / *!� -2 , '� 
+2 � + ���� : 2� � ���� O p t i m u m  w at er  c o n t en t  � � $���� � ��  San d  c o n e t es t  

. � !*�  + ��� � � ����� �� � �*� 
��  1153 c m 3 � ( � � � �
� + C� 
� �*� 
��  2209 g . 0 & �  
� ( � � � �
0 � ��� �*� 
��  1879 g .  
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���� γd = 1879/1153 
    = 1. 6 3 0   g m/ c m3  

 1. 6 3 0/ 1. 7 25    =   0. 94  

 

 

� ��� � �  1 :   94 %   

� � � ��  2:   96 %  

� � � ��  3:   97 %  

� � � ��  4:   98 %  

 

 

 

 

������: 44 

	
 �� �: � � �� 	���
� �� � ��� 0 & � � ���
� �� � ��� � �� � � �� ��� � � ���
 � � � �  (Sp ec i f i c at i o n )  

	� � � � �� � C o m p ac t i o n  d en s i t y  �� *� �� ���  95 � + ���� : 2� � �����!� � � � � 0 � *� 0 � ��
� )�� �� ���3 � �
 � 
� ���+ M �� �� �
� �0 & � � ��!� � / $(� �� )*� � / *!� 2 � + ���� : 2� � � ��� 
O p t i m u m  w at er  c o n t en t  � � $���� � ��  San d  c o n e t es t  . � !*�  + ��� � � ����� ��
� �*� 
��  1153 c m 3 � ( � � � �
 � + C� 
� �*� 
��  2209 g . 0 & �  � ( � � � �
0 � ��� �*� 
��  1879 

g .  
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� � � ��  1:   � + 9� 3 + � � � ���
 � � � � � � $���� � 
 � 
�!� � � � � 0 � *� 0 � �� 0 & �  O p t i m u m  w at er  

c o n t en t  

� ��� � �  2 :   3 � *� + 9� 3 + � � � ���
 � � � � � � $���� � 
 � 
�!� � � � � 0 � *� 0 � �� 

� � � ��  3:   3 � *� + 9� 3 + � � � ���
 � � � � � � $���� � 
 � 
�!� � � � � 0 � *� 0 � ��0 & �  O p t i m u m  w at er  

c o n t en t  

� � � ��  4:   3 � *� + 9� 3 + � � � ���
 � � � � � � $���� � 
 � 
 O p t i m u m  w at er  c o n t en t  

 

 



 27/56 

������: 45 

	
 �� �: 
 �� �  V er t i c al  Ef f ec t i v e s t r es s  � ��� !�
 ��  A   

 

 

 

� � � ��  1:   5.5 k N / m 2  

� � � ��  2:   5.9 k N / m 2  

� ��� � �  3 :   6.9 k N / m 2 

� � � ��  4:   12.4 k N / m 2  

 

������: 46 
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 �� �: 
 � 
 F l o w  n et  ���
� �3 � & ���� ( � = *� �  s heet  p i l es  
 �� �  t o t al  head  �. 
 ��  a,  

b  0 & �  c  � � � &  � � ��  

 

 

� ��� � �  1 :   50 f t .,  49 f t .,  0 & �  46 f t .  

� � � ��  2:   10 f t .,  9 f t .,  0 & �  6 f t .  

� � � ��  3:   9 f t .,  8 f t .,  0 & �  6 f t . 

� � � ��  4:   49 f t .,  48 f t .,  0 & �  46 f t . 
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 �� �: 
 � 
 F l o w  n et  ���
� �3 � & ���� ( � = *� �  s heet  p i l es  
 �� � ��� �� 
� �3 � & ���� ( � � �
/ *�� II � *�� � '��� � *!� �!� � � � !  

� � $���*�  k x  = k z  = k  = 5* 10̂ -3 f t / s ec   
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���� q  = k i a  

    = k . N f . ∆ h / N q 

    = 5  x  10
-3
 x  1 x  6  / 6  

 

� ��� � �  1 :   5.0x 10̂ -3 f t ./ s ec   

� � � ��  2:   8.3x 10̂ -5 f t ./ s ec   

� � � ��  3:   1.38x 10̂ -6 f t ./ s ec  

� � � ��  4:   6.94x 10̂ -7 f t ./ s ec  
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������: 48 

	
 �� �: 3
 � 
�)+ >� � �� 
0 � �  f l ex i b l e 
*�� � �� 
�� 0 ��� �� ���= �!� �� � �*� 
��  100 k Pa 

( k N / m 2)  0 ��� �� � �� ���� . ��� �'(� � � 0 � !� ���� � $���
 � 
>� � � �(����!� � & '
 2 � � � �� + 9�
� �*� � �   

 

 

 

 

 

 

 

 

 

 

 

���� � �� ��	
       n = 2/ 2 = 1 

    M = 2/ 2 = 1 

  � �� � � 
 � n = 4 / 2 = 2 

    M = 2/ 2 = 1  

  

q = 2 x  0. 17 5  x  100  +   2 x  0. 200 x  100 

   = 3 5  +  4 0 

   = 7 5  k P a  
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� � � ��  1:   45 k Pa ( k N / m 2)  

� � � ��  2:   55 k Pa ( k N / m 2)  

� � � ��  3:   65 k Pa ( k N / m 2)  

� ��� � �  4:   75 k Pa ( k N / m 2)  

 

 

 

������: 49 

	
 �� �: 
� ��� � ��  U n c o n f i n ed  c o m p r es s i o n  ( U C )  t es t  	� � � / �� �!�� *� �� �� � � � �� !
/ � �� � � '�� . � !*� �*�  U n c o n f i n ed  c o m p r es s i v e s t r en g t h ���� �� � � � �� !� �(� ��*�
� �*� 
��  10 � �� /� � � �2 , �� �  � � �!�� *� �� �� / � �� � �(� � �� � ��  T r i ax i al  t es t  0 � �  
U n c o n s o l i d at ed  U n d r ai n ed  ( U U )  t es t  	� � � / ��!� � � �� � �  T r i ax i al  c el l  � �*� 
��  
10 � �� /� � � �2 M ax i m u m  D ev i at o r  s t r es s  ���!�� 3 � �
 � 

� ��� � �� � �(̀ 
 � � ��*�
� �*� 
�� � �*� 3 �  

� � � ��  1:   5 � �� /� � � �2 

� ��� � �  2 :   10 � �� /� � � �2 

� � � ��  3:   15 � �� /� � � �2 

� � � ��  4:   20 � �� /� � � �2 

 

 

 

 

S o i l  s e t t l e m e n t ,  c o n s o l i d a t i o n  t h e o r y  
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 �� �: � �� ���� � �� �� 3 � *� �� ��� 0 ��� � O � � 

!*� 0 ��� �� ���� �� � � + P
 
 �� ��  0 & � � �= & � *�
� �
���� � �!�� � � ( �  �$�� �� � � � �!� � � � � � � �   

� ��� � �  1 :   N o r m al l y  c o n s o l i d at ed  C l ay  

� � � ��  2:   O v er c o n s o l i d at ed  C l ay  

� � � ��  3:   N o r m al l y  c o n s o l i d at ed  San d  

� � � ��  4:   O v er c o n s o l i d at ed  s an d  
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������: 51 

	
 �� �: !�8 �
� �� � � / �� � 
� �� �*�
� ����� � �!���� �� � � � �� !  

� � � ��  1:   St at i c  c o m p ac t i o n  

� � � ��  2:   D eep  M i x i n g  Pi l e 

� � � ��  3:   V i b r o f l o t  

� ��� � �  4:   Pr el o ad i n g  

 

������: 52 

	
 �� �: C o n s o l i d at i o n  s et t l em en t  � 
�� 
 � 
  

� � � ��  1:   + ��� � � ����� � $(�� �� & � & � � � � � �� 
�� 
� ����� � �! 

� � � ��  2:   �� � �� � ( � � � �� �� � )��'(�  � � � � ��*� � � *!� 0 ��+ �� � ��8 �= & � . ��� �'(�  

� ��� � �  3 :   � ( � � � ���

 � 
/ *��!*� ��� � !*� �� � 2� � �� � � $���
 � 
0 ��� �� � ( � � *!� � 
��   

� � � ��  4:   � �� ( � � � �

�� � � ���= �!� ��  � � � � �/ *��!*� ������ 
� ? � � � �� & � & � 

 

������: 53 

	
 �� �: ��� �� � �2!���
� ����� � �!0 � �  C o n s o l i d at i o n  s et t l em en t  �'(� �� )*
��   

� � � ��  1:   C o m p r es s i o n  i n d ex  

� � � ��  2:   O v er  c o n s o l i d at i o n  r at i o  

� � � ��  3:   Pr e-c o n s o l i d at i o n  p r es s u r e 

� ��� � �  4:   C o ef f i c i en t  o f  p er m eab i l i t y   

 

 

������: 54 

	
 �� �: 
� �� � ��� � �� 
 � � �= & � � � � �  
� � � ��  1:   V s  & �  � � � � � �!� � � � � 0 � *� ���� ��  � . ���  

� � � ��  2:   W s  � . ���  � � � � � �!� � � � � 0 � *� ���� ��  � . ���  

� ��� � �  3 :   + ��� � �/ *��!*� ������ 
� ? & � & �  

� � � ��  4:   + ��� � �� ( � � � � �� & � & � 

 

������: 55 

	
 �� �: 
� �� � ��� � �$��� � ��   
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� � � ��  1:   �!�� / ��, � � 0 � � & � 

 )� 

� � � ��  2:   �!�� / ��, � � & ��� � & 2
  

� � � ��  3:   �!�� � ��� �� �� �� � 0 � �� (D r y  s i d e)  

� ��� � �  4:   �!�� � ��� �� �� �� � � + C� 
 (W et  s i d e)   

 

������: 56 

	
 �� �: 
� �� � ��� � �� �� �� �� � 0 � �� (D r y  s i d e)   

� � � ��  1:   �!�� / ��, � � 0 � � � �� 0 
�  (Sheep  f o o t )  

� � � ��  2:   �!�� / ��, � � 0 � � � ��� � � � �$��  (V i b r at i n g  R o l l er )  

� ��� � �  3 :   � � $��� . ��� . & ���� � � � 
� �� � ��� �!� � � � � 0 � *� 0 � ��
 � � . ��� �'(�   

� � � ��  4:   � �� + �� � ��8 �;�!� � : '� 3 � ����� �� 
 � � � � 
!*� 
� �� � ��� �� �� �� � � + C� 
 

  

������: 57 

	
 �� �: � �� ���� ��*�  C BR  � )����� ��   

� ��� � �  1 :   � �� �& �
 

� � � ��  2:   � �� & )
��� 

� � � ��  3:   � �� � � � �� !+ � 
�!�  

� � � ��  4:   � �� � � � �� !+ � � � 
�� ��� �  
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 �� �: 
 � 
���� )& ���3 � �� � �3 !�� � �)+ + �� 
��  
 �� � !*� 
 � � ���� / �� !& � � �*� � � � � 
� ��� � � �
0 ��� �� � ( � � *!� � 
��  ( ���� 
�� �'(� 
 � 
0 ��
�� � � �� � �  10 t / s q .m . ���= �!� �� ) � � �� � �
� �(�   
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���� t = 2. 7 14  x  10 x  10/ 0. 5  

  = 5 4 2. 8  da y s  

  = 1. 5  y e a r s  

 

� ��� � �  1 :   1.5 + C 
� � � ��  2:   3 + C 
� � � ��  3:   4.5 + C 
� � � ��  4:   6 + C 
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 �� �: / �(� � �� ���� ��*�  O C R  = 2.5 0 & � � ��*�  Pr ec o n s o l i d at i o n  p r es s u r e = 4 t / s q .m . 
 �
� ��*� � � *!� 0 ��
� ��� � � + P
 
 �� �� � �*� 
�� � �*� � �   

 

 

� 4 & �  O C R  = Pc / P0 

 P0 = 4/ 2.5 

  = 1.6   t / m 2 
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� ��� � �  1 :   1.6 t / s q .m . 

� � � ��  2:   2.5 t / s q .m . 

� � � ��  3:   4 t / s q .m . 

� � � ��  4:   10 t / s q .m . 

 

 

������:  60 

	
 �� �:  
 � 
�)+ 
�� @  e l o g  p  , �� 
 ��  A  � + 9� 
 �� ���� ���? � ��!� � 	���� ��� ���� ��  0 & � �*�  
O v er b u r d en  p r es s u r e � �*� 
��  20 
�	& � �!� �� � *�� � �� �� � � � �*�  O v er c o n s o l i d at i o n  

r at i o  ���� �� / � �� � �(
 � � ��*� � �*� 
�� � �$�� 
& �� ��� �
�� �*� � �   

 

����  O C R  = 8 0/ 20 

    = 4 0 

 

� � � ��  1:   1.0 

� � � ��  2:   2.0 

� � � ��  3:   3.0 

� ��� � �  4:   4.0 
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������:  61 

	
 �� �:  
 � 

�� @  e l o g  p  �*�  C o m p r es s i o n  i n d ex  � ��*� � �*� 
�� � �$�� 
& �� ��� �
�� �*� � �   

 

����  C c  = ∆ e / ∆ l o g p  

     = 0. 2/ ( l o g 3 00 + l o g 100)  

     = 0. 4 2 

 

� � � ��  1:    0.0086 

� � � ��  2:    0.01 

� ��� � �  3 :   0.43 

� � � ��  4:    0.68 
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������:  62 

	
 �� �:  
 � 
�)+ 
�� @  e l o g  p  , �� 
 ��  A  � + 9� 
 �� ���� ���? � ��!� � 	���� ��� ���� ��  �*�  M ax i m u m  

p as t  p r es s u r e � ��*� � �*� 
��  � �$�� 
& �� ��� �
�� �*� � �   

 

� � � ��  1:   50 k N / s q .m . 

� � � ��  2:   60 k N / s q .m . 

� � � ��  3:   70 k N / s q .m . 

� ��� � �  4:   80 k N / s q .m . 

 

������: 63 

	
 �� �: / �(� � �� � � � �� !�*�� ���� � �!� �!� � ( � � � �  14 � � � � � �& �
7 �� / �(� � �� � ���)+  , �� ���� ��� !�= �!� ��
� �� ( � � � �
0 = *
�� 
 � � � � � � � � � �
�� � � � + 9� � ��� !�
!�� � , �� � !& � = *� � 3 +  2 + C �*�  T i m e 

f ac t o r  ���/ �(� � �� � �(
 � � ��*� � �*� 
�� � �$�� 
& �� ��� �
�� �*� � �   
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���� T v  = t. C v / H
2
 

  = 2 x  3 6 5  x  3  x  10
-3
/ ( 7 )

2
 

  = 0. 04 5  

 

 

� � � ��  1:   0.011 

� � � ��  2:   0.027 

� � � ��  3:   0.034 

� ��� � �  4:   0.045 
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���� S = ( C r / ( 1+ e 0) ) . H . l o g ( P c / P 0)     +    ( C c  

/ ( 1+ e 0) ) . H . l o g ( ( p 0+ ∆ P ) / P c )  

 = ( 0. 1/ ( 1+ 1. 2) )  X  2 X  L O G ( 7 5 / 5 0)   +   

( 0. 5 / ( 1+ 1. 2) )  X  2 X  L O G  ( 100/ 7 5 )  

 = 0. 016  +  0. 05 6  

 = 0. 07 3    m 

 

� � � ��  1:   160 m m  

� � � ��  2:   80 m m  

� ��� � �  3 :   73 m m  

� � � ��  4:   36 m m  

 

 

 

 

��������	
 overconsolidated clays 

������

�� �� 	 
 � �  e-l o g  p  � � �� ��� � � �� �  h j  � � 
 �� � �� 6 . 1 1  � ��� � � � �� �� � � �� �� 	 �� � �� �  
r eb o u n d  c u r v e �  � �
 �� 	 � � � �� �� � �!� ��  s w el l  i n d ex ( C s )  " �� � �!� �

������
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������: 65 

	
 �� �: / �(� � �� � � � �� !���� � �!� �!� � ( � � � �  5 � � � � �� )*�� � !*� �/ �(� ��� � . ��� � ( �  � � $��� 
2�
� �!�� *� �� �� � � � �� !3 + �� � �� 
� ���� � �!�� � � ( � � � '��� �� � 	� � � / �� �!�� *� �� � �  1 � �(! 
(2.5 c m )  0 & � � �
� ��� � � � � ( � ��(�� �� � � � 0 & � � �� � & *� � 
� �!�� ��� � � �= & ���� )& 	� �
� / �!�8 ����� �� �� & ��� (T ay l o r K s  m et ho d )  : '���*� � �*� � !& � 
� ���� � �!�� � � ( � ��� 50%  

� �*� 
��  12.5 � � �� , �� � ���
� �
*�� ��� ��� �� �� � � $�/ �(� � �� � � � �� !� �( 
 ��� � �� � �
� !& � 
� ����� � �!��� 90%   

 

 

���� L a b        C v  = T v . H
2
/ t 

    = 0. 196  x  ( 1. 25 )
2
/ 12. 5  

    = 0. 024 5   c m
2
/ mi n 

 

 F i e l d t = T v  x  h
2
/ C v  

   = 0. 8 4 8  x  ( 2. 5  x  100)
2
/ 0. 024 5  

   = 4 . 11  y e a r s  

 

� � � ��  1:   1 + C 
� � � ��  2:   2 + C 
� � � ��  3:   3 + C 
� ��� � �  4:   4 + C 
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����         Ssec    =   {0.01 x 2 x 
log(10/1)}/(1+0.8) 
                         =   0.011  m 
             Spri     =     {0.5 x 2 x log 
(100/50)}/(1+0.8) 
                         =   0.167   m   
            Spri + Ssec   =  0.178  m ****** 
 

 

 

� ��� � �  1 :   178 m m  

� � � ��  2:   89 m m  

� � � ��  3:   16 c m  

� � � ��  4:   32 c m  
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 �� �: ���� � 3 � *, )
� ��� � 
��� !
�� + �� 
< 
� ��� � �$� = & ��� � 
�� 
 � 
�� !� 
� �� �� ��� � �!
���� ��  (c o n s o l i d at i o n )  ?   

� � � ��  1:   �� !� 
� �� �� ��� � �!���� ��  (c o n s o l i d at i o n )  
 � � � � � �� !& � �� � �/ *��!*� �� � � �� & � & �.  
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� ��� � �  2 :   �� !� 
� �� �� ��� � �!���� ��  (c o n s o l i d at i o n )  
 � � � � � �
 � & ����� 0 ��� 4 $�� ���� �� & � & �.  
� � � ��  3:   �� !� 
� �� �� ��� � �!���� ��  (c o n s o l i d at i o n )  
 � � � � � �� !& � �� � �� �� + �� � ��8 �;
� �

�� � � � � ( � & � & �.  
� � � ��  4:   �� !� 
� �� �� ��� � �!���� ��  (c o n s o l i d at i o n )  � � � � �, 
  � & ��0 � � 
 � 
 & �
7 ��  

Pi s t o n -s p r i n g  an al o g y .  
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 �� �: ���� � � �� �� � ���� � ���3 � *� �= & 
�� �� � �$�
�� �� � ��� ���� �� � *��� � � 0 & � ��� �� 
� �
���� � �!���� �� � � � �� !  

� � � ��  1:   St r es s  hi s t o r y   

� � � ��  2:   W at er  c o n t en t  0 & �  A t t er b er g K s  l i m i t   

� � � ��  3:   0 �*+ �� 
�� � � � �� � � � �� ! 

� ��� � �  4:   �!� � � � � 0 � *� 0 � ��� )�� ��  (M ax i m u m  d r y  d en s i t y )  
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 �� �: �*� � 3 � �= & 
� ��� � ��  C o n s o l i d at i o n  t es t  ���� �� / � �� � � '�� � �� � �� �!� � & '
� � '�� 
+ �� 
< !*� �*� � . � � � �� 	����!� � � �� . �� 8 ��� � !*� � v o i d  r at i o  0 & �  L o g  ( PK )  � ���(�� � �  3 

� � �� � ��0 � � �� � - � .  ���� � ����*� � �!�� ��+ 
 � 
� � �� 	������ �& *� �� �(  

  

� � � ��  1:   � � �� 	��� C  �!�
 � � + 9� � � �� �!� � � �� . �� 8 ����� 
�� �'(� � � � � � � 	� � � �
� �� �!
 !�� � � � - � . 
 ���  

� � � ��  2:   � � �� 	��� A  �!�
 � � + 9� � � �� �!� � � �� . �� 8 �� � � ���+ < �� �� �
� �0 & � � �!�� *� �� + 9� � �!�� *� ����� �
���- � . ( U n d i s t u r b ed  Sam p l e)  � . �� � � � � � �, � �  M ax i m u m  Pas t  Pr es s u r e 3 � �  

� � � ��  3:   � � �� 	��� B �!�� + 9� � � �� �!� � � �� . �� 8 ����3 � �� � 
 � 
� �!�� *� �0 � �  D i s t u r b ed  3 � *
� � � � �, � �  M ax i m u m  Pas t  Pr es s u r e 3 � � 

� ��� � �  4:   , )
��
���  
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������: 70 

	
 �� �: � � 
& *� !� � ���� � ���3 � *, )
� ���� � �L 7 < �
� ����� � �!0 � �  O n e d i m en s i o n  ��� T er z ag hi   

� � � ��  1:   �*�  O v er -C o n s o l i d at i o n  r at i o  ( O C R )  �$���� �� � *!� ����!� � � ��� ���� � 
���� �� � �
�� ��  � � ����(�� ��� 
!*�  L Pr e-c o n s o l i d at i o n  p r es s u r eM  � �$� L M ax i m u m  Pas t  

Pr es s u r eM  � *� �!� � � ��� � � + P
 
 �� ��   

� � � ��  2:   , �� � �� � � O C R  = 1 , )
� ��� 
!*�  L N o r m al -c o n s o l i d at ed  So i l M  ,  , �� � �� � � O C R  >  1 , )

� ��� 
!*�  L O v er -c o n s o l i d at ed  So i l M  0 & �  , �� � �� � � O C R  <  1 , )
� ��� 
!*�  L U n d er -

c o n s o l i d at ed  So i l M  : '��3 � *�*�� . �   

� � � ��  3:   �L 7 M �
� ����� � �!0 � �  O n e-d i m en s i o n  � + 9� 
� �+ �� � � ��� � � 0 & � ��� �� 
� �
���� � �!���� �� ���� ��!� � : '� � ( � � ��� O  � / *�  � �� � � � �� !	� � . �
 � ��� , '�+ �� !�� �
� ����
0 ������ �� (St r es s  hi s t o r y )  � �!� : '��
� ��  � � �� � � �� � �� � � � ���+ < �� �� �
� �� ���
� 
2� � �!�� *� �� �� 0 � �  U n d i s t u r b ed  0 & � � ���3 � *� � & � � 	���� ��� ��$�� O  � � �� � !*� �
� �!0 � *�� ��  

� ��� � �  4:   3 � *� ����, )
 

 

 

������: 71 

	
 �� �: 
 � 
�)+ � �� / �(� � ��  , �� � �0 ��� ��  50 k Pa 
�� � � ���= �!� �� � + 9� � ��� !�
!�� �� � 

 � 3 � *

  � 
��  
 � � �
� ����� � �!� � $���
 � 
 Pr i m ar y  C o n s o l i d at i o n  � + 9� � �*� � �   

 

� � � ��  1:   24 c m  

� � � ��  2:   34 c m  

� � � ��  3:   44 c m  

� ��� � �  4:   65 c m  
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������: 72 

	
 �� �: � �  c o n s o l i d at i o n  t es t  	� � � / �� �!�� *� �� �� � � � �� !���� � �!� �!� � ( � � � �  20 � � . 
. � !*� ���� � *!� 0 ��
� ��� �*� � � '��� ���� / �� !& �  10.4 � � ��
 '�
 � � � d eg r ee o f  

c o n s o l i d at i o n  = 90%  , �� � �� � � � �� !/ � �� � � �� !
�� � �(� � �  4 � � � �� �� - � . 
� �
�� � � � � ( � � � � $�� 
�� � �  l ab  0 & � � � *!� 0 ��
� ��� � �*� 
��  
 � � / �� !& � � � � � �*� � � 
 '�

 � � � d eg r ee o f  c o n s o l i d at i o n  = 90%   

� � � ��  1:   1.44 !��  

� ��� � �  2 :   72.2 !��  

� � � ��  3:   288.9 !��  

� � � ��  4:   354.3 !��  

 

 

B e a r i n g  c a p a c i t y  t h e o r y  

 

������: 7 3 

	
 �� �: � � � � �2� 
*�� ��� �� � / �(� � �� � ���)+  
 � � ���� � � '�, '����� � � + 9� . �� ? 7   

  

 

� � � ��  1:   G en er al  s hear  f ai l u r e 

� ��� � �  2 :   N eg at i v e s k i n  f r i c t i o n  

� � � ��  3:   L at er al  m o v em en t  

� � � ��  4:   Pi l e d ev i at i o n  
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 �� �: >� � �� 
� ��� � & ��� � = $� = ��  
!�� � 2 � � � � � � ! 4 � � � � !� ��� )*� � / �(� ��� � ����!� � & '
 
2 � � � �
 � 
= �!� ��  ��� 0 ��
� � � 0 � !0 
�  ( �!� � ( � � � �
>� � �� 
) 80 � ��  
 �
+ �� � � ��*� � � *!� 0 ������ 
�� �'(� � � / �(� � �� ����� � �� >� � �� 
0 & � ����!� � & '
 8 � � � �

 � 
= �!� �� � � $���
 � 
>� � �� 
� �( 
 � � � � � � �� / �
� �
�� 
 � � � � *!� 0 �� 2: 1  

 

���� � � � �� � �� � ��  q = 8 0/ ( 2 x  4 )  

 � � � ��  8  �.� � 
 � �� � ��  

    q = 8 0/ ( 8  x  10)  

     = 1 t/ m
2
 

 

� ��� � �  1 :   10 t / m 2 0 & �  1 t / m 2 

� � � ��  2:   10 t / m 2 0 & �  0.67 t / m 2 

� � � ��  3:   20 t / m 2 0 & �  1 t / m 2 

� � � ��  4:   20 t / m 2 0 & �  0.67 t / m 2 

 

������: 7 5  

	
 �� �: ���� � 3 � *� / *& �
7 �� 
� �� �& $��� � �!���� �� � � �>� � �� 
���� � � � �� 
�� 
� �!�� �� �  
� � � ��  1:   G en er al  Shear  

� � � ��  2:   L o c al  Shear  

� � � ��  3:   Pu n c hi n g  Shear  

� ��� � �  4:   Beam  Shear  

 

������: 7 6  

	
 �� �: ����+ �� 
�� � � ���3 � *� �= & � *��*�  U l t i m at e Bear i n g  C ap ac i t y  ���� �� � � �>� � �� 
  

� � � ��  1:   � ( � � � �
� �� � � � $�>� � �� 
 

� � � ��  2:   �!� � 
!�� ����>� � �� 
 

� � � ��  3:   �!� � & '
���>� � �� 

 � 
= �!� ��  

� ��� � �  4:   ���- � . ������ 
��� ���� / �� � >� � �� 
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������: 77 

	
 �� �: >� � �� 
0 = *0 � � � � !� � � �� �  (s t r i p  f o o t i n g )  Q P�
 � �� )*� � / �(� � �� � � � �� !& '
 1 � � � � 
�� � �� � ( � � � � � �� & '
� � 
� � $��� ��� � 
�� �!� � 
!�� ����>� � �� 
 � �� � � � �� !� �� � *!�
� ( � � � �
� �*� 
��  21 k N / m 3 
 �� � �*� 
 � & �� 0 � 
�� � + �� & �� ���>� � �� 
0 = *� � 
���
� / �
� �!�� ��� � � �0 � � 3 � *�� � � � � ( �  	� � � �
 � & ����� 0 ��� 4 $�� 0 � � 3 � * �� � � � � ( �  
( u n d r ai n ed  s hear  s t r en g t h,  s u )  � �*� 
��  105 k N / m 2 
 � � � �  N c  = 5.14,  N q  

= 1  

 

���� qu  =  c N c  +  qN q +  0. 5 γ B N γ 

  =  105  x  5 . 14  +  1 x  21 x  1 +  0 

  =  5 3 9. 7   +   21 

  =  5 6 0. 7    k N / m
2
 

 

� � � ��  1:   540 k Pa ( k N / m ^ 2)  

� ��� � �  2 :   561 k Pa ( k N / m ^ 2)  

� � � ��  3:   224 k Pa ( k N / m ^ 2)  

� � � ��  4:   216 k Pa ( k N / m ^ 2)  
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������: 78 

	
 �� �: >� � �� 
0 = *0 � � � � !� � � �� �  (s t r i p  f o o t i n g )  Q P�
 � �� )*� � / �(� � �� � � � �� !& '
 1.5 � � � � �� � ��
� ( � � � �� �� & '
� � 
� � $��� ��� � 
�� �!� � 
!�� ����>� � �� 
 � �� � � � �� !� �� � *!� � ( � � � �
� �*� 
��  20 

k N / m 3 
 �� � �*� 
 � & ��0 � 
�� � + �� & �� ���>� � �� 
0 = *� � 
���� / �
� �!�� ��� � � �0 � � 3 � *
�� � � � � ( �  	� � � �
 � & ����� 0 ��� 4 $�� 0 � � 3 � *�� � � � � ( �  (u n d r ai n ed  s hear  s t r en g t h,  s u )  

� �*� 
��  95 k N / m 2 
 � � � �  N c  = 5.14,  N q  = 1  

� � � ��  1:   488 k Pa ( k N / m ^ 2)  

� � � ��  2:   207 k Pa ( k N / m ^ 2)  

� � � ��  3:   195 k Pa ( k N / m ^ 2)  

� ��� � �  4:   518 k Pa ( k N / m ^ 2)  

 

������: 79 

	
 �� �: >� � �� 
0 = *0 � � � � !� � � �� �  (s t r i p  f o o t i n g )  Q P�
 � �� )*� � / �(� � �� � � � �� !& '
 2 � � � � �� � �� � ( �
� � �� �� & '
� � 
� � $��� ��� � 
�� �!� � 
!�� ����>� � �� 
 � �� � � � �� !� �� � *!� � ( � � � �
� �*� 
��  20 

k N / m 3 
 �� � �*� 
 � & ��0 � 
�� � + �� & �� ���>� � �� 
0 = *� � 
���� / �
� �!�� ��� � � �0 � � 3 � *
�� � � � � ( �  	� � � �
 � & ����� 0 ��� 4 $�� 0 � � 3 � *�� � � � � ( �  (u n d r ai n ed  s hear  s t r en g t h,  s u )  

� �*� 
��  95 k N / m 2 
 � � � �  N c  = 5.14,  N q  = 1  

� � � ��  1:   211 k Pa ( k N / m ^ 2)  

� � � ��  2:   195 k Pa ( k N / m ^ 2)  

� � � ��  3:   488 k Pa ( k N / m ^ 2)  

� ��� � �  4:   528 k Pa ( k N / m ^ 2)  

 

������: 80 

	
 �� �: >� � �� 
0 = *0 � � � � !� � � �� �  (s t r i p  f o o t i n g )  Q P�
 � �� )*� � / �(� � �� � � � �� !& '
 2 � � � � �� � �� � ( �
� � �� �� & '
� � 
� � $��� ��� � 
�� �!� � 
!�� ����>� � �� 
 � �� � � � �� !� �� � *!� � ( � � � �
� �*� 
��  18 

k N / m 3 
 �� � �*� 
 � & ��0 � 
�� � + �� & �� ���>� � �� 
0 = *� � 
���� / �
� �!�� ��� � � �0 � � 3 � *
�� � � � � ( �  	� � � �
 � & ����� 0 ��� 4 $�� 0 � � 3 � *�� � � � � ( �  (u n d r ai n ed  s hear  s t r en g t h,  s u )  

� �*� 
��  40 k N / m 2 
 � � � �  N c  = 5.14,  N q  = 1  

� � � ��  1:   82 k Pa ( k N / m ^ 2)  

� � � ��  2:   97 k Pa ( k N / m ^ 2)  

� � � ��  3:   206 k Pa ( k N / m ^ 2)  

� ��� � �  4:   242 k Pa ( k N / m ^ 2)  
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������: 81 

	
 �� �: 
 � & ����� ��� � ( � � � �
���� �� � � � �L 7 M ���� T er z ag hi  
 � �'(� �� )*
��   

� ��� � �  1 :   �!� � & '
����� � �� ���!� �>� � �� 
  

� � � ��  2:   � ( � � � �
���
�� � � 
�� >� � �� 
 

� � � ��  3:   �*� � �� � � �� � �� � �� � !*� �>� � �� 
0 & � � �� � � �>� � �� 
 

� � � ��  4:   , )
��
��� 

 

������: 82 

	
 �� �: 
������� �� ( � � � �� �� � � � $��� � �� >� � �� 
 �� � �� � ( � � � �� �� 
 � � �= & � � � � �  
� ��� � �  1 :   
 � & ����� � ( � � � �
0 � 
�� � ���� �� & � & � 

� � � ��  2:   
 � & ����� � ( � � � �
0 � 
�� � ���� �� � . ��� �'(�  

� � � ��  3:   
 � & ����� � ( � � � �
0 � 
�� � ���� �� 3 � *� + & ��� � 0 + & � 

� � � ��  4:   3 � *� � � � �, � ��+ 3 � �  
 

������: 83 

	
 �� �: >� � �� 
�*!�  (C o m b i n ed  f o o t i n g )  � � � � , '�  

� ��� � �  1 :   >� � �� 
���� �� ( � � � �

 � 
� � � 
�� � � � ��
 �� � �$�� � 

!*�  

� � � ��  2:   >� � �� 
� � ��� !�����
0 � � � � ���� 0 ��� � 0 � !� ���0 & � 	� � � � � ��*!� 
��  

� � � ��  3:   >� � �� 
����� �� ����� �� & � �  O  �)+ 0 � � � � �� �� �� & ��� � �� !
��  

� � � ��  4:   >� � �� 
����� �� ����� ���(�>� � �� 
0 = *0 & � >� � �� 
� � � � �2� �*!� 
��  

 

������: 84 

	
 �� �: �� � �� � ( � � � �� �� ����� � �� � � � �= & � � � Bear i n g  C ap ac i t y  � ��*� � ��� ���� ��   

� ��� � �  1 :   �� � �� = �!� ��  

� � � ��  2:   �� � �� 1/ 2 ����!� � & '
>� � �� 
 

� � � ��  3:   �� � ��  1/ 4 ����!� � & '
>� � �� 
 

� � � ��  4:   �� � �� � � �>� � �� 
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������: 85 

	
 �� �: � �� / � �� � � ����!� � & '
���>� � �� 
� �= & � *� Bear i n g  C ap ac i t y  � ��� � � 
  

� � � ��  1:   C o hes i o n l es s  s o i l  

� � � ��  2:   D en s e San d   

� � � ��  3:   L o o s e s an d  

� ��� � �  4:   C l ay  

 

������: 86 

	
 �� �: � � 
� �!�� ��� � � � Bear i n g  C ap ac i t y  � � � �L 7 M ���� T er z ag hi  
 � � � � � � �� �� � �

� �!�� �� �0 � � � �   

� ��� � �  1 :   G en er al  Shear  F ai l u r e 

� � � ��  2:   L o c al  Shear  F ai l u r e 

� � � ��  3:   Pu n c hi n g  Shear  F ai l u r e 

� � � ��  4:   R o t at i o n al  F ai l u r e 

  

������: 87 

	
 �� �: 
 �� � �*� � ( � � � �
� ����
� �� � � ����>� � �� 
���3 � �0 � � �3 !�� � � � � 
� ����� ����: � 
� 
	� � � / �� *!� + & �� - �� � �*� 
��  3  
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� 4 & �  qu  =  c N c  +  qN q +  0. 5 γ B N γ  

    = 1 x  20. 3  +  0 +  0. 5  x  1. 7  x  2 x  5 . 9 

    = 20. 3    +    10. 03  

    = 3 0. 3 3  t/ m2 

 Qu l t = 3 0. 3 3  x  2 x  2 

    = 121. 3 2    t 

 Qa l l  = 121. 3 2/ 3  

    = 4 0. 4 4   to ns  

 

� � � ��  1:   + �� � � � 30 � ��  

� ��� � �  2 :   + �� � � � 40 � ��  

� � � ��  3:   + �� � � � 50 � ��  

� � � ��  4:   + �� � � � 60 � ��  

 

 

 

������: 88 

	
 �� �: � � 
� �� � ��� � �� 0 � �  M o d i f i ed  Pr o c t o r  � / � M o l d  �� � �  � � �� = *� � ? )� � �
& � � 6 � �(! � )� 
4.584 � �(! � ��� � ( � � � �
�� � �  10 l b  �� � � � 
� )� 18 � �(! 
�� 0 �
& �� � � � $(�� �� �!�  5 / �(�  / �(�
& �  56 ���(� . & ���� � ���� / �� � 
� �� � ��� � �� � � �)+ ���. & ���� � ���� / �� � 
� �� � ��� � �� � *�
+ ��� � � ����� �� ���� � ���  � ��*� � �*� 
�� � �*� 3 �  

� � � ��  1:   12400 f t -l b / f t ^ 3  

� � � ��  2:   24800 f t -l b / f t ^ 3  

� ��� � �  3 :   56000 f t -l b / f t ^ 3 

� � � ��  4:   62400 f t -l b / f t ^ 3 
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������: 89 

	
 �� �: 
 �� � � !�� � 
 � & ����� � ( � � � �
� ����
� � � � �2� + & �� - �� ���� � � � �2�  s p u n  � � �� = *� �
? )� � �
& � � 60 : � . � / � Saf et y  F ac t o r  � � � 
< 
�� ��!�� �*� 
��  2.5 � � � / �(� � �� ���

 � � � � � � � (3 � *��� � ( � � � �
� � � � �2� )  

 

���� F s  = α . Su . L . A
p
 

    = 0. 4  x  10 x  12 x  ( 22/ 7 )  x  0. 4 0 

    = 90. 4 8  to ns  

 Qb  = 9 x  10 x  0. 7 8 5  x  ( 0. 6 0)
2
 

    = 25 . 4 3    to ns  

 Q
t o a t a l

 = 115 . 91 to ns  

 Qa l l  = 115 . 91/ 2. 5  

    = 4 6 . 3 7   to ns   
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� � � ��  1:   19 � ��  

� � � ��  2:   36 � ��  

� ��� � �  3 :   46 � ��  

� � � ��  4:   115 � ��  

 

 

������: 90 

	
 �� �: � � 
� �� �
� � � � �2� ��� 
��� �)+ � � �� � �� � ��� � & ��� � �� � �  0.2x 0.2 m . �!� � � � ! 5 

m . & �3 + � � / �(� � �� � � � �� !�*��  : '��� ��*�  c  = 1.2 T / m ^ 2 0 & �  A n g l e o f  In t er n al  

F r i c t i o n  = 0 �*� � �� + �� � ��8 �;0 ��� '� � 
� �  ( A d hes i o n  F ac t o r  )  �� � !*� �= �!
��� 
��� 
�� � �� � � � �� !�*�� � �*� 
��  1 �*� 0 ��� �� � �� � ���= �!� �� � ��� ����� � � � �2� � �
�*� � �*� 
�� � �*� � �   

 

���� F s  = α . Su . L . A
p
 

    = 1 x  1. 2 x  5  x  0. 2 x  4  

    = 4 . 8   to ns  

 

� � � ��  1:   2.4 t o n  

� ��� � �  2 :   4.8 t o n  

� � � ��  3:   5.6 t o n  

� � � ��  4:   9.6 t o n  
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������: 91 

	
 �� �: 
 � � � � �� � � >� � �� 
� � !� *�� � $��� (St r i p  F o o t i n g )  ����� � ��  H1 � � � �
 � 
= �!� ��  � � *!�
� ( � � � �
 � ��  18 k N / m 3,  c = 5 k Pa,  i n t er n al  f r i c t i o n  an g l e=0 
 �� � � !�� �  G r o s s  

U l t i m at e Bear i n g  C ap ac i t y  � � $�� N c  = 5.14 ,  N q  = 1 ,  N γ = 0  

� � � ��  1:   25.7 k Pa 

� � � ��  2:   35.7 k Pa 

� ��� � �  3 :   43.7 k Pa 

� � � ��  4:   53.7 k Pa 

 

������: 92 

	
 �� �: 
 � � � � �� � � >� � �� 
� � !� *�� � $��� (St r i p  F o o t i n g )  ����� � ��  H0.5 � � � �
 � 
= �!� ��  � � *!�
� ( � � � �
� ��  20 k N / m 3,  c = 10 k Pa,  i n t er n al  f r i c t i o n  an g l e= 0 
 �� � � !�� �  G r o s s  

U l t i m at e Bear i n g  C ap ac i t y  � � $�� N c  = 5.14 ,  N q  = 1 ,  N γ = 0  

� � � ��  1:   25.7 k Pa 

� � � ��  2:   35.7 k Pa 

� ��� � �  3 :   61.4 k Pa 

� � � ��  4:   51.4 k Pa 

 

 

 

 

������: 93 

	
 �� �: 
 � � � � �� � � >� � �� 
� � !� *�� � $��� (St r i p  F o o t i n g )  ����� � ��  H2 � � � �
 � 
= �!� ��  
� � *!� � ( � � � �
� ��  21 k N / m 3,  c = 12.5 k Pa,  i n t er n al  f r i c t i o n  an g l e= 0 
 �

� � � !�� �  G r o s s  U l t i m at e Bear i n g  C ap ac i t y  � � $�� N c  = 5.14 ,  N q  = 1 ,  N γ 

= 0  

� � � ��  1:   106.25 k Pa 

� � � ��  2:   64.25 k Pa 

� ��� � �  3 :   43.70 k Pa 

� � � ��  4:   61.40 k Pa 

 

������: 94 
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 �� �: 
 �. �
 � ��� ����!� � � *�3 + � �(  

 

� � � ��  1:   , )
��
��� 

� � � ��  2:   , )
� � � ��� 

� ��� � �  3 :   , )
� ����� 

� � � ��  4:   , )
� � '����� 

 

C o m p a c t i o n  

 

������: 9 5  

	
 �� �: 
 �� + �� � ���� & �
���
� ��� � �� 
� �� � ��� � �� � � � ����� & ���$�  

� � � ��  1:   �!� � 0 �2�0 ������ �� ���� � ���  

� � � ��  2:   �!� � � � � 0 � *� ���� �� / $(� ���+ ��� � ��!� � / $(� � *� �O 
��  

� ��� � �  3 :   �!� � � � � 0 � *� 0 � ��� )�� �� 0 & � �!� � / $(� ���� � � � � � �  

� � � ��  4:   � � �*� �!� � � � � 0 � *� 0 � ������ �� � � $��/ *��!*� ������ 
� ? � �*� 
�� ? )� � � 
 

������: 9 6  

	
 �� �: 
� �� � ��� � �� �� �� �� � 0 � �� (D r y  s i d e)   

� � � ��  1:   �!�� / ��, � � 0 � � � �� 0 
�  (Sheep  f o o t )  

� � � ��  2:   �!�� / ��, � � 0 � � � ��� � � � �$��  (V i b r at i n g  R o l l er )  

� ��� � �  3 :   � � $��� . ��� . & ���� � � � 
� �� � ��� �!� � � � � 0 � *� 0 � ��
 � � . ��� �'(�  

� � � ��  4:   � �� + �� � ��8 �;�!� � : '� 3 � ����� �� 
 � � � � 
!*� � � ��� �� �� �� � � + C� 
 

 

������: 9 7  

	
 �� �: � �� ���� ��*�  C BR  � )����� ��   

� ��� � �  1 :   � �� �& �
 

� � � ��  2:   � �� & )
��� 
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� � � ��  3:   � �� � � � �� !+ � 
�!�  

� � � ��  4:   � �� � � � �� !+ � � � 
�� ��� �  

 

������: 9 8  

	
 �� �: �  � � �!�� *� �� �� & )
���: '��� ��*�  , . . G s  = 2.730 3 + � � 
� ��� & �� M o d i f i ed  

Pr o c t o r  C o m p ac t i o n  T es t  3 � ��*� �!� � � � � 0 � *� 0 � ��� )�� ��  = 1.868 g / c m ^ 3 

	� � � / �+ ��� � �� ( � ���� � � � � � � ���� ��  O M C  = 14.95%  , �� � � � � �, � � ��� 
 � 
�� ����
� � / *��!*� ��� � !*� �� � 2� � �� 3 � *� �@ ���� 
� ? �� )*� & � 	� � � / �+ ��� � �� ( � ��� O M C  � �( 3 � �
�*� �!� � � � � 0 � *� � )�� �� � �*� � �   

 

 

���� γd = 2.73 x 1/(1+(0.1495 x 
2.73)) 

    = 1.939   gm/cm3
 

 

� � � ��  1:   1.868 g / c u .m . 

� � � ��  2:   2.730 g / c u .m . 

� ��� � �  3 :   1.939 g / c u .m . 

� � � ��  4:   0.732 g / c u .m . 

. 
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������: 9 9  

	
 �� �: � � 
� �� � ��� � �� 0 � �  M o d i f i ed  Pr o c t o r  � / � M o l d  �� � �  � � �� = *� � ? )� � �
& � � 6 

� �(! � )� 4.584 � �(! � ��� � ( � � � �
�� � �  10 l b  �� � � � 
� )� 18 � �(! 
�� 0 �
& �� � � � $(�
� �� �!�  5 / �(�  / �(� & �  56 ���(� . & ���� � ���� / �� � 
� �� � ��� � �� � � �)+ ���. & ���� � ���� / �
� � 
� �� � ��� � �� � *�+ ��� � � ����� �� ���� � ���  � ��*� � �*� 
�� � �*� 3 �  

� � � ��  1:   12400 f t -l b / f t ^ 3 

� � � ��  2:   24800 f t -l b / f t ^ 3 

� ��� � �  3 :   56000 f t -l b / f t ^ 3 

� � � ��  4:   62400 f t -l b / f t ^ 3 

 

 

 

������: 10 0  

	
 �� �: , �� � �� � . ��� . & ���� � � � 
� �� � ���  �*� �!� � � � � 0 � *� 0 � ��� )�� ��  (M ax i m u m  D r y  

D en s i t y )  0 & � �*� �!� � / $(� � � ��� � � � � � � �  ( O p t i m u m  M o i s t u r e C o n t en t )  
 �
� + & ��� � 0 + & ��� *� �3 �  

� � � ��  1:   �*� �!� � � � � 0 � *� 0 � ��� )�� �� � . ��� �'(�  0 & � �*� �!� � / $(� � � ��� � � � � � � � � . ��� �'(�   

� ��� � �  2 :   �*� �!� � � � � 0 � *� 0 � ��� )�� �� � . ��� �'(�  0 & � �*� �!� � / $(� � � ��� � � � � � � � & � & � 

� � � ��  3:   �*� �!� � � � � 0 � *� 0 � ��� )�� �� & � & � 0 & � �*� �!� � / $(� � � ��� � � � � � � � & � & � 

� � � ��  4:   �*� �!� � � � � 0 � *� 0 � ��� )�� �� & � & � 0 & � �*� �!� � / $(� � � ��� � � � � � � � � . ��� �'(�   

 

  

 


